Exam Code :AADHI_17 Exam Date :29-05-2019
Version 196 Exam Time :16:00 - 17:30

Question No. 1

& fAREd Feamr &, 'KUMAR' &t 'LVNBS' for@r Sirdr &1 3T et # 'EMOTIONAL' &t %9 far sdem?
A)FNQUJQMBM B)FNPUJPOBM
C)FNQUJPOBM D)FNQUJQOBM

In a code language, 'KUMAR' is coded as 'LVNBS'. How is 'EMOTIONAL coded in that language?

A)FNQUJQMBM B) FNPUJPOBM
C)FNQUJPOBM D)FNQUJQOBM
Answer Key : B Your Response : B (Correct)

Question No. 2

Tt et T wfaRer SEhT & AT grell g
A)SAH T T B)31eII¥Y I & &FAhel
C)ARTE D)elFeTs

The resistance of a conductor directly proportional to its-

A)All the options B)Area of cross section
C)Thickness D)Length
Answer Key : D Your Response : D (Correct)

Question No. 3
1 31T 2019 ¥ R=faf@a #F ¥ T o S5t a7 ¥ 3ifw T=Eer F T Rew = A e
AufFaa d« 3R e 9« B)fasrr d& 3R tweRms 9%
C)fasrr d& 3R & d% D)o & 3R viFaw d&

Which of the following two banks merger with Bank of Baroda was effective from 1 April 2019?

A)Axis Bank and Vijaya Bank B)Vijaya Bank and SBI Bank
C)Vijaya Bank and Dena Bank D)Dena Bank and Axis Bank
Answer Key : C Your Response : C (Correct)

Question No. 4

BT 7w et 7 & T 9ol
A)123 B)151
C)147 D)131

Find the ODD one out from the given options.

A)123 B)151
C)147 D)131
Answer Key : C Your Response : Not Answered

Question No. 5
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Onionis a

A)Seed B)Bulb
C)Root D)Fruit
Answer Key : B Your Response : B (Correct)

Question No. 6
, 3G A qEFaH dGHT R &
A) fafersrdr srar B)3msR&
C)I&dsh D)gdducer

The outermost fibrous coating of the eye is called-

A)Ciliary Body B)Iris
C)Choroid D)Sclera
Answer Key : D Your Response : Not Answered

Question No. 7

ws fARad geem & 'ABCDEF' &Y 'ZYXWVU' forr Srar §1 38 HeemT 3 'MEAT' & 3 foar Srem?
AINWZG B)NVGZ
C)NvZU D)NVZG

In a certain code, '"ABCDEF' is written as 'ZYXWVU'. How would 'MEAT' be written in that code?

AINWZG B)NVGZ
C)NVZU D)NVZG
Answer Key : D Your Response : Not Answered

Question No. 8
HA®T IURTA(homologous chromosomes) T &7
A)X-RIATE B) Y-shIHMEH
C)aaerdl aorgT D)3iferaiew

What are homologous chromosomes?

A)X-chromosomes B)Y-chromosomes
C)Heterozygous chromosomes D)Autosomes
Answer Key : D Your Response : Not Answered

Question No. 9

ftfaf@a 7 & =i & i Bre & Wefta =@t 2

A)TET T B)IUTST EIhr
C)g wdst D)gatrX grdT

Which of the following trophies is NOT associated with cricket?

A)Ryder Cup B)Ranji Trophy
C)The Ashes D)Deodhar Trophy
Answer Key : A Your Response : A (Correct)

Question No. 10

IR 5 @ 29 = 32, 41@78-1173#{' 32 = 46%a’r22@46$rm?rw€l7rr‘?

ANDA1
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C)66 D)52

If5@29=32,41@78=117 and 16 @ 32 = 46, then what will be 22 @ 46?

A)31 B)48
C)66 D)52
Answer Key: C Your Response : C (Correct)

Question No. 11
1/25 T AT FAJeT AT P
A)0.4 B)0.04
C)0.2 D)0.004

Find the decimal equivalent of 1/25.

A)0.4 B)0.04
€)0.2 D)0.004
Answer Key : B Your Response : B (Correct)

Question No. 12

UNESCO e e e favameT ARY e semaeT & 9@l 82
A) o B)arorer

C)Ra D)farsor

9

Virupaksha Temple, which is a UNESCO World Heritage Site, is dedicated to the deity-

A)Krishna B)Ganesh
C)Shiva D)Vishnu
Answer Key: C Your Response : Not Answered

Question No. 13
i 90T & S FaTel T AT &, SEA & TN o Fm §l I 30N For 48 Harer g R, o 30
e warer |er fFr?
A)25 B)19
C)11 D)16

Ranjith got two times as many sums wrong as he got right. If he attempted 48 sums in all, how many did he

solve correctly?

A)25 B)19
C)11 D)16
Answer Key : D Your Response : D (Correct)

Question No. 14

R aTw Redt ¥ & IR
A)11 B)6
C)18 D)9

Find the ODD one out from the given options.
A)11
C)18
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Question No. 15

fAafaf@a Joft # quidya 3pR @qg @ Afaw

YP, TK, (..), MD, KB
A)NF B)PG
C)UV D)RI

Find the missing group of alphabets in the following series.

YP, TK, (...), MD, KB

AYNF B)PG
C)uv D)RI
Answer Key : B Your Response : B (Correct)

Question No. 16

ey e % a1¢ § QW S W Afaf@a F & @i @1 uear §?

A)gelaeTel FEdr B) degasoTcHha
Cya&A] fFear D) 3IATROT Fall

Which of the following decreases in moving from left to right along a period?

A)Electron affinity B) Electro negativity
C)Atomic radius D)lonisation energy
Answer Key : C Your Response : C (Correct)

Question No. 17

T A Yok =T ST S 82
AT 3T Td GARE MM T ST HId 8 B)JeR o3Il &l Yohs UeT A &, dlfeh il hide &l
ST
C)ufew uvor & A & & § AR Afder a1fg &1 gawD)eefs (@) afor aff avor & 3w gar ¢
Td AN TeATdl & | ggfelT, ohisl # e @MU S g
Why are luggages fitted with rollers?
A)Rollers obstruct easy and smooth movement B)Rollers give grip to luggage so that movement is
tough
C)Wheels reduce friction and rolling makes theD)Rolling friction is higher than sliding friction. Hence,
movement smooth and easy luggages are fitted with rollers
Answer Key: C Your Response : C (Correct)

Question No. 18

sroft r qof Bl
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A)301 B)338
C)349 D)316

Complete the series.

8, 30, 74, 162, (...)

A)301 B)338
C)349 D)316
Answer Key : B Your Response : B (Correct)

Question No. 19

ar AafFa v & e & wAw: 4.5 FralEer 3w 5.75 freeer i el d To §1 I F IU-3El Ot @

T WY T YE I 5§, 3.5 6 F 916 T TF g & et Freiehex gy gl
A)4.375 et B)5.75 fareir
C)4.5 forer D)30.725 e

Two men walk along the same direction at 4.5 km/hr and 5.75 km/hr respectively. If they start walking

together at their respective speeds, how many kilometres apart are they at the end of 3.5 hours?

A)4.375 km B)5.75 km
C)4.5km D)30.725 km
Answer Key : A Your Response : A (Correct)

Question No. 20
AgT iy efaf@a # & g 7 W samn @ g7
A) FETTEr B)fy
C)arar D)sTareir

Across which of the following rivers is Mettur Dam built?

A)Mahanadi B)Sindhu
C)Cauvery D)Bhavani
Answer Key : C Your Response : Not Answered

Question No. 21
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Arafaf@a seert #F eae & 9¢ 3R T Re 5w e Fr 3e) &I

Teh 37GHRI & SNIeT, Teh Wl Well ST & &1 ¥ & v, J T R (8! 30T wsfRal &1 @%on & 9 &t &
Tk el GiFd F TeT @ 9B ¥ 9 FI S[d et gU § AN wefRai e S veel g§ €1 9fFd M F
I ST F TR YE gl ¥ osF R TRl 9T F T & 97 @ @ ¥ i F e e W

ol T ShTFd & T & Fehell ¢

i) J, K ¥ A1 T 319 @3 gl

if) ST e ST L §

i) L % S1g g@RT sser M gl

iv) dfea #F Tt T 9w N @sr #

v) O, J & 3 @3 B

vi) P, L 31X J & & @ &

vii) R T @5 gl

farfaf@a & & =i a1 v asfrt #r gea 32

AN 3k Q
C)O 3R N

B)R 3T M
D)P 3R L

Read the following information carefully and answer the question given below.

During a vacation, a game is being played. For the game, 9 people from J to R (mix of boys and girls) have to

stand in a vertical row. Boys are wearing black shoes and girls are wearing pink shoes. The row starts at top

and with a pink shoe. Boys and girls stand alternately in the row. Each position in the row can be occupied

by one person only.

i) J stands seven places before K.

ii) Third pink shoes is L.

iii) Second boy after L is M.

iv) Fourth place in the row is occupied by N.
v) O stands ahead of J.

vi) P stands between L and J.

vii) Ris a girl.

Which of the following is a pair of girls?
A)N and Q

C)OandN
Answer Key : D

B)Rand M
D)Pand L

Your Response : Not Answered

W, L
r e P S e T W e N U
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T 7 95 F A 7g W ARy, Fifk IE I
A)FIET A3ieraEs Seedr § B)ATSeIste folehorar &
C)FE SE3fass Fdadr & D)3itereiotel f¥emelar &

One should NOT sleep under a tree at night, because-

A)Carbon monoxide is released B) Nitrogen is released
C)Carbon dioxide is released D)Oxygen is released
Answer Key : C Your Response : C (Correct)

Question No. 23
AR Foll AT F TIFT T ST Hler AT 872
A fgd -235 B)¥cifeT# - 90
C)drafe# - 210 D)y&faraH -137

Which is the main fuel used in a nuclear power plant?

A)Uranium-235 B) Strontium-90
C)Polonium-210 D)Caesium-137
Answer Key : A Your Response : A (Correct)

Question No. 24
HETST T Teh i N HT FHAT o AT WP ¥ HAFH Ueh deleT & &I H dgof fodm Sem g1 97 #r o= 3R
ool I IR TASAT T U1 A1 hife]
A)2m ;1 B)1 : 2n
C)1: 4n D)1 :m

A square sheet of paper is folded into a cylinder by rolling along its side. What is the ratio of side of the
square to the base radius of the cylinder?

A)2m: 1 B)1:2m
C)1:4mn D)1:m
Answer Key : A Your Response : D (Wrong)

Question No. 25
T FL 23 x 2(45 - 15) + 168 + 4 + 2 - (11)2
A)1080 B)1410
C)1280 D)685

Simplify: 23 x 2(45 - 15) + 168 + 4+ 2 - (11)2

A)1080 B)1410
C)1280 D)685
Answer Key : C Your Response : C (Correct)

Question No. 26
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30 WA A, TF FYa AN 30F g N forsaw§ Re 1w §) 37 s a1 (37 st &) ot o anfeer &9 @
waifts 3uged g

O=2T>W=G;D=T

IGACO R
. W>D
l.W<O

N.0o=D
A)Fae say | 3R 1l 39ged B B)dder ey | 3ugerd Bl
C)dhael fasehy | 3R Il 3T Bl D)eharer farseny 11 31X 11l 397 Bl

In this question, statements are given followed by three conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
0=T>W=G;D=T

Conclusions:

I.W>D

I.W<0

M.0=D

A)Only conclusions | and Il are true B) Only conclusion | is true

C)Only conclusions | and Il are true D)Only conclusions Il and lll are true

Answer Key : D Your Response : D (Correct)

Question No. 27
frfafla & & i @ sfaeafer 7 707 =@ & v ggFa caf-avs ael F 1 o seor 87
A RifAs B)ehier
C)dligr D)FdIfsd ®EeR a8

Which of the following is an example of sound-absorbent material used to reduce reverberation?

A)Ceramic B)Glass
C)lron D)Compressed fibre board
Answer Key : D Your Response : Not Answered

Question No. 28
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30 faed & 999 H, S WHT H e FES (?) F TH W&

A & T wafead 9w el

8 9|10]
6 5|4
25 2 |19
23 27| 21
A B) 18
24
C) D) 12
21

Choose the alternative that best replaces the question mark(?) in the

given figure.
9 | 10
5) 4 |
25 ? |19
23 27 21
A) B) 18
24
° ? 19
21

Answer Key : B

Your Response : Not Answered

Question No. 29

1 1
Ifx x—:£:1a>r xhgmrmmﬁ%m

A)

1o

B)
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C) D)

1 1
If x+==1, then find the value of x*+ .
X x

A) B)

1o
-

c) D)

Answer Key : A Your Response : Not Answered

Question No. 30

Seiedrr Afger Raw, 2019 H Rwg-awg w=r A7
A)EAT I, TAE §0, Seord & foIv $& 791 :  B)¥HawE, Heaieliear 3R ity

C)giarar & Sgerd o D)y 3R AASS @l & Heferd Jaemsi

qfet e

What was the theme of ‘International Women's Day', 2019?

A)Think equal, build smart, innovate for change B) Dialogue, tolerance and peace
C)Let's bring change to the world D)Bridging health and social care
Answer Key : A Your Response : Not Answered

Question No. 31

TEee H2UT AT F ¥ R g @ gdfta 82
A) fohehe By
C)ssfHea D)®%ester

With which of the following sports is Parupalli Kashyap associated?

A)Cricket B) Tennis
C)Badminton D)Football
Answer Key : C Your Response : C (Correct)

Question No. 32

AT Holll T Sl hQ ATAT ST &7
A)TEH B)amesic
C)33yg D)gH
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A)Charaka B)Vaghbhata
C)Atreya D)Sushruta

Answer Key : D Your Response : A (Wrong)

Question No. 33

T 3Mfad AT, T AT YUT T g & AT 30° FHT T ST §1 9T HIUT AT HIiow]

A)45° B)15°
C)30° D)60°

An incident ray makes an angle of 30° with the surface of a plane mirror. What is the angle of reflection?

A)45° B)15°
C)30° D)60°
Answer Key : C Your Response : C (Correct)

Question No. 34
T G H 50% & oM W =T ST g 3R AT IR H 4% @l Y T AT HfSie
A)40% B)56%
C)36% D)44%

An object is sold at a profit of 50% and tax levied is 4%. What is the net profit?

A)40% B)56%
C)36% D)44%
Answer Key : D Your Response : Not Answered

Question No. 35

0.18 1 AT F1d hIfAT]

A) B)

17/100 27/90

Q) D)

17/90 18/100

Find the value of 0.18

A) B)

17/100 27/90

Top



C) D)

17/90 18/100

Answer Key : C Your Response : Not Answered

Question No. 36
A, B, C # TF FeaiR 99 F °RI R T Tap oeliay 3 shorer: 252 @hs, 308 dahs 3R 198 Aehs HT T
A & I T T W TF &g ToA YE B §, AN B TET & qE T YA YR g W Hewr?
A)42 AT 50 A% B)45 fA=ic
C)26 f&ee 30 QHhs D)46 fAsic 12 AHs

A, B and C can run around a circular path once in 252 seconds, 308 seconds and 198 seconds respectively.
If they start running from a point simultaneously, after what time will they meet again at the starting point?

A)42 minutes 50 seconds B)45 minutes
C)26 minutes 30 seconds D)46 minutes 12 seconds
Answer Key : D Your Response : Not Answered

Question No. 37

fArfaf@d Aol & equiRyd smr-aeg wa RfsE

ZA, WB, (.), KH, BP
A)RD B)RP
C)IR D)PG

Find the missing group of alphabets in the following series.

ZA, WB, (...), KH, BP

A)RD B)RP
C)IR D)PG
Answer Key : A Your Response : A (Correct)

Question No. 38

UgAT W 3R Tl Ugol SqTF ieT &2
A)TsfasT Tfege B)TeleT SieT
C)RTher erAT D)sfier 3meEgiar

Who was the first person to land on the moon?

A)Edwin Aldrin B)Alan Bean
C)Rakesh Sharma D)Neil Armstrong
Answer Key : D Your Response : D (Correct)

Question No. 39
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Sroft &t gt B

8, 13, 13, 23, 18, 33, (.)
A)31 B)21
C)35 D)23

Complete the series.

8,13, 13, 23, 18, 33, (...)

A)31 B)21
C)35 D)23
Answer Key : D Your Response : D (Correct)

Question No. 40

Pfaf@d Rt @ e ¥ u¢ 3R S Re 7w e #r 36 &)

INE fFd & FARR dFadl 7 8 §, 9w 9fFd F oF wafd 56 TR 38 § BF ee-aee 3 9ds
SFT T gEy ¥ WA qf W 81 9fFa -1 #, P, Q, R, S, T 3w V &% § 3k & wehr gfdor #ir 3w g e
gU §l 9 2 #, A, B, C, D, E 3R F 98 &, 3R ¥ Tl 3ca 1 3R #jg v ge &1 g@fae, & 95 oo A
ST # v 4iFd # o7 YAF WerT q@d UiFd & Wew T A AR g Fhv ge R

A, D & g 3R Y T W do7 ¥l 7 o A A € D 9P % oR WIS §1 T, D A 3R g BFe g R
V, A #r 3R g ad fhe gu & 3R V Ui & Bl o o W Al SoT ¥ V, T & i worer F e o ¥ B
dfeT & R T O W deT 81 B 3R E & €T e & ufFd 3 §1 E, V #r 3R H{g fhv gu dor §1 R
3R Q & T ar afd 88 §1 R, T % 8 worer # =11 da7 &1 C , V ¥ 3R 7y e g =€ Jo1 &1 P, R &
8% sarer # gt o Bl

T 3t S & 9w v deeT 88 &2
A)TH B)deT
C)ar D)aR

Read the following information carefully and answer the question given below.

Twelve people are sitting in two parallel rows containing six people each, in such a way that there is an
equal distance between adjacent persons. Inrow-1, P, Q, R, S, T and V are seated, and all of them are facing
south. In row-2, A, B, C, D, E and F are seated, and all of them are facing north. Therefore, in the given
seating arrangement each member seated in a row faces another member of the other row.

A sits third to the right of D. Neither A nor D sits at the extreme ends. T faces D. V does not face A, and V
does not sit at any of the extreme ends. V is not an immediate neighbour of T. B sits at one of the extreme
ends. Only two people sit between B and E. E does not face V. Two persons sit between R and Q. R is not an
immediate neighbour of T. C does not face V. P is not an immediate neighbour of R.

How many members sit between T and S?

A)One / R L g)-l:h'r;e E ;,,:1;? / TOp

= TR £ &0
.~ I PR PO S 1y Sl T A PR A Lk



Answer Key : C Your Response : Not Answered

Question No. 41

T TR & WUROT sAreT f v fAfREd ¥ w8 af F 100% Fr i S &1 FAR X W €.8000 W 2 aF

& Thqlg STTST AT GIEM?
A)%.2075 B)%.2025
C)%.2050 D)%.2125

A sum increases by 100% in 8 years at a certain rate of Simple Interest. What will be the Compound Interest

on Rs.8000 after 2 years at the same rate of interest?

A)Rs.2075 B)Rs.2025
C)Rs.2050 D)Rs.2125
Answer Key : D Your Response : D (Correct)

Question No. 42

farfaf@a F & =i a1 AR Rw 71w Heer it wefeas dor @ qob SEm?

ZYX : TSR :: MLK : ?
A)GFE B)HGF
C)EDC D)EFG

Which of the following will best complete the relationship given below?

ZYX:TSR: MLK:?

A)GFE B)HGF
C)EDC D)EFG
Answer Key : A Your Response : A (Correct)

Question No. 43

1 3R 12 F BIFF 12 F IOEEUS H F&AT Ad HFATI
A)3 B)2
C)1 D)4

Find the number of factors of 12 excluding 1 and 12.

A)3 B)2
O)1 D)4
Answer Key : D Your Response : D (Correct)

Question No. 44

- e
R e
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3T TS IF A a9 82

A) B)

C) D)

10

How many squares are there in the givenfigure?

A) B)

6
8
C) D)
4
10
Answer Key : A Your Response : B (Wrong)

Question No. 45
far &1 31 38 3T A 3 I HAF {1 8 Aol TG, A Y 9 FHr Y A 2.5 I g A ¥ 8 Wl g,
38% 3R 3WF ST A MY F AT FAT gram?
A)5 : 2 B)11 : 4
C)3 : 1 D)2 : 1

Father is aged 3 times more than his son. After 8 years, he would be 2.5 times his son's age. Further after 8
years, what would be the ratio of his age to that of his son?

A)5:2 B)11:4
0)3:1 D)2:1

Answer Key : D Your Response : D (Correct)
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Tl §§ PiAd 3R AT 7 e garr veRia Rufa # fFa &7 7 S S §?
A)HIT S HerEhIfe B)#eiq{iol=g Harehifel
C)HereRfdstiare #EY D)emTcel=d FHarehifr

A situation marked by rising prices and stagnation in demand is known as-

A)Demand-pull inflation B) Wage—-push inflation
C)Stagflation D)Cost-push inflation
Answer Key : C Your Response : Not Answered

Question No. 47
Prfaf@a # ¥ Fa & RefPa fr w0 w@of @ ¥ gfr @ 32
A faafaa A B)faerf@er B
C)ferf@ar K D)ferf@= C

Which of the following vitamin deficiencies is fulfilled by golden rice?

A)Vitamin A B)Vitamin B
C)Vitamin K D)Vitamin C
Answer Key : A Your Response : Not Answered

Question No. 48

T o] BE Fohe [Foraer & 3wel R Hiee & fdede ar @i & 4R e ar@n e
FT EoRl A9 WM BIAr g SAar § 3R 3T & e @ e g1 9e1or & fov Pmfaf@a d§ & <l ar @@
TSI §72
A)TTHOT HT Tolg § LT A g1 ofrell &l B) IR WA teh &R i g
C)¥T Hethe Uh IR A RFAS & T H HRAID)ICRIA WRT-e e 3R fAeas §, Ig

FaT § 3R s wETee @1 TR AT A Tothe I TR HAT g

gl

A dilute ferrous sulphate solution was gradually added to the beaker containing acidified potassium

permanganate solution. The light purple colour of the solution fades and finally disappears. Which of the

following is the CORRECT explanation for the observation?

A)The colour disappears due to dilution B) Potassium permanganate is an unstable compound

C)Ferrous sulphate acts as an oxidising agent andD)Potassium permanganate is an oxidising agent, it
oxidises potassium permanganate oxidises ferrous sulphate

Answer Key : D Your Response : C (Wrong)

Question No. 49
A, B 3R C ¥ 3 T 3eured 2: 3: 4 §| 3eThr 3G S I9T 108 §1 12 a¥ &g 3oTehr 31 I HFured AT
glem?
A)1:3:5
C)3:4:5
The ages of A, B and C are in the ratio 2 : 3 : 4. The sum of their ages is 108. What will be the ratio of their
ages twelve years hence?
A)1:3:5 B)1:2:3
C)3:4:5 D)2:5:6
Answer Key : C = T B/ — Top
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Question No. 50

AT ST Fr ggelr Afger g Sl 42
AT eles B)ARAE &R
C)aT seRR D)s#esT AR

Who was the first woman Prime Minister of Great Britain?

A)Hillary Clinton B)Margaret Thatcher
C) Cherie Blair D)Imelda Marcos
Answer Key : B Your Response : B (Correct)

Question No. 51
Af3aw gregiaarss, afher dier, aiier dier & @ & & g @aor & 39AT Rar ST §2
A)TQSTa FElee B)Hv=NIfRIeT FaiRTSs
C)ure e FalRTss D)AIf3IH FoRISs

Which of the following salts is used in the preparation of sodium hydroxide, baking soda, washing

soda?

A)Sodium carbonate B)Magnesium chloride
C)Potassium chloride D)Sodium chloride

Answer Key : D Your Response : A (Wrong)

Question No. 52
T T T FEEAr 18000 ¥ g 22500 g 151 i @ wfawr A Al
A)20% B)15%
C)25% D)30%

The population of a village increased from 18000 to 22500. What is the increase percentage?

A)20% B)15%
C)25% D)30%
Answer Key: C Your Response : C (Correct)

Question No. 53
ol 7 & fFFa 3w 7 fa Feare 3R sfa-scafea wor #Algg B 82
A)ad B
C)TelTsAT D)3 E

Which of the following states consists of super energetic and super excited particles?

A)Liquid B)Gas
C)Plasma D)Solid
Answer Key : C Your Response : C (Correct)

Question No. 54

IS & GHEANES T 39T FT AT & 399R F Far sar g2
A) T B)Eerdt
C)Tatefr D)g@r T
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C)Nyctalopia D)Rickets
Answer Key : A Your Response : A (Correct)
Question No. 55
ar §EAEt F a.H9(LCM) 3R AHI(HCF) HAr: 2400 3R 16 §1 I ve H&m 480 &, o qud ¥&r «ia
Hfawl
A)60 B)90
C)40 D)80

LCM and HCF of two numbers are 2400 and 16 respectively. If one number is 480, find the other number.

A)60 B)90
C)40 D)80
Answer Key : D Your Response : Not Answered

Question No. 56

3W AP & TOT F, S Aeafaa 4fter & g % "ew a7t
weifead 1 ¥ forwfia ST g

FeolaTd, g, e, TeU

A) B)

C) D)

Choose the figure that best represents the relationship among the
classes given below.
Batsman, Ball, Cricket, Stump

A) B)

Answer Key : C Your Response : C (Correct)

Question No. 57

ﬁmﬁl@aﬁ#aﬁa%ﬁaﬁ:ﬁﬁﬁaﬂaﬂﬁﬂ?mm%ﬁ
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Which of the following glands prepares an animal for flight?

A)Pineal B)Pancreas
C) Thyroid D)Adrenal
Answer Key : D Your Response : A (Wrong)

Question No. 58

e AR F BT AT & § ST a1 T 9 &2

A)fdegd & gareshl B)fdegd & Faremshl
C)3eTeh UL & oI Jael 3MThYOT Tl TEH gl D)elet & fdegd & Farelh § 3R 3ash HURET & @i

Ul 3THYUT FoT Aal g |

Which of the following statements is/are CORRECT for carbon compounds?

A)Good conductors of electricity B) Poor conductors of electricity

C)Do not have strong forces of attraction betweenD)Both poor conductors of electricity and do not have
their molecules strong forces of attraction between their molecules

Answer Key : D Your Response : C (Wrong)

Question No. 59

IfE x =100, y = 99 ar % F A A HiTerT]

A) B)

C) D)

199 0

If x = 100, y = 99 then find the value of X T¥ *X¥

XS _ y3

A) B)
1 2

C) D)
199 0]

Answer Key : A Top




Question No. 60

@ieT € EeTelt A & Gelr §é‘ FATCH 87
A)3isT B)@HR
C)3rer D)aererr

Which ingredient makes bread fluffy?

A)Egg B)Yeast
C)Flour D)Vanilla
Answer Key : B Your Response : Not Answered

Question No. 61

sifeara v w1 P 15 BT 7 Q@ HT Thar g AT THer 36w
9 et & U =T Wear ¥ ¥ F A W, 3= 3 A A = Q@
ToRaT| T1 37eher 3HT A &I forae f&aT H T Fohar 27

A) B)

6 = for 62

2}

o]
=1| &

0) D)

61—% 10fe=

(Wi

Srinivas can do a job in 15 days and Ramesh can do the same job
in 9 days. With the help of Ravi, they did the job in 3 days. In how

many days ean Ravi alone do the same job?

A) B)
2 3
6 — days 6 — days
a i
0) D)
1
6 — days 10 days
3]
Answer Key : B Your Response : Not Answered

Question No. 62
P el 1 @t 9 Rt F o wwew §1 AR Q, P ¥ 50% HF R ¢, A Q A FH T F R W
TINem?
A)13.5 &t B)6 foeT
C)4.5 feat D)3 feet
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A)13.5 days B)6 days
C)4.5 days D)3 days
Answer Key : B Your Response : C (Wrong)

Question No. 63

I x=asecO+btan 0Ty =atan 0+ b sec 8, dl x*>- ¥y & AT
By

A) B)

a+bhb 2% - b?

C) D)

a: +b2 a:'! +'b2

Ifx=asecO+btan B and y=a tan 8 + b seec 0, then find x* - y°.

A) B)

C) D)

Answer Key : B Your Response : Not Answered

Question No. 64

R Terd & 3MRF Gedca FT S| AEE H 7
A)kg m3 B)kg m3
C)m3 D)HIS ATHF AdT

What is the Sl unit of relative density of a substance?

A)kg m3 B)kg m?
c)m? D)No unit
Answer Key : D Your Response : Not Answered

Question No. 65
Ifg sin A = 12 3R A 3R B 3@ 07 §, aF sin(A - B) T AT A1 HX
A)-172

Top



If sin A = 1/2 and A and B are complementary angles, then find the value of sin(A - B).

A)-1/2 B)-1
C)1/2 D)0
Answer Key : A Your Response : Not Answered

Question No. 66
3T, o 3R =g ¥ T e AT WaTl 3 3N R G@RT TR T a1 Tl T SeareT 10 2 8, R 3R
g, GART TR T a7 @l &7 3 3 : 4 ¥ PR F A 204 & s €, O °g 7 3 § Fraer &
3w Fow §72
A)62 ToT B)66 I
C)60 T D)70 &

Arjun, Bharath and Chandru played a cricket match. The ratio of runs scored by Arjun and Bharath is 1 : 2
and the ratio of runs scored by Bharath and Chandru is 3 : 4. If together they score 204 runs, how many runs
has Chandru made more than Arjun?

A)62 runs B) 66 runs
C)60 runs D)70 runs
Answer Key : C Your Response : Not Answered

Question No. 67
ar avt & fav v fARud URY W AIURor sarer 3R Tshqfs SIS HARN: $.8400 3R %.8652 §| AT Hr &
T FfSA
A)5.5% B)6%
C)5% D)4.5%

The Simple Interest and Compound Interest on a certain sum of money for two years are Rs.8400 and
Rs.8652 respectively. Find the rate of interest.

A)5.5% B)6%
C)5% D)4.5%
Answer Key : B Your Response : B (Correct)

Question No. 68

T AR Fleled 1 &T%a 120 Hiex? 3T aRAT 46 #Hiex §1 35 RApol i dars AT RifSw)
A)15 #r B)20 #r
C)17 # D)16 #r

A rectangular carpet has an area of 120 m? and a perimeter of 46 m. Find the length of its diagonal.

A)15m B)20 m
C)17 m D)16 m
Answer Key : C Your Response : Not Answered

Question No. 69

LR ECTI L \{6+\|’6+J6+J6+ .....

i S e (o = Top
I P o atta O :’ku!'*:"&’lv’?‘,h Tl v T -~ |“l—"vvrvvy\",;!,‘u‘.“al' = 541 “ “Lrard € (‘l A5 .’/



A) B)

6 1/6

C) D)

Simplify: J6+ Jﬁ +f6 46+,

A) B)
6 1/6
C) D)
3 2
Answer Key : C Your Response : Not Answered

Question No. 70

gellerat 7 ¥ waifs e g #la @ 872
A)FellisT B) FelRist
C)sirHteT D)3ATSeT

The most reactive among the halogens is-

A)Chlorine B) Fluorine
C)Bromine D)lodine
Answer Key : B Your Response : A (Wrong)

Question No. 71
AR ToIolia WEATT T JEAET Fal I §?

INE I B)&grgeT
C)a$ fewelr D)

o

The headquarter of Wildlife Institute of India is located at-

A)Bhopal
C)New Delhi
Answer Key : B

B) Dehradun
D)Mysuru

Your Response : Not Answered

Question No. 72
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R e & 3/4 o o1 ar Bér 3K a1 & 36 S &1 1/6 o1 ek e § 3R 1/8 e B sera §1

oTEr F fhde REar 3 3t @y St Serar 82
A)1/12 B)1/4
C)5/6 D)1/24

In a class 3/4 of the students do not know either Hindi or English. 1/6 of the students know English and 1/8

of the students know Hindi. What part of the students know both English and Hindi?

A)1/12 B)1/4
C)5/6 D)1/24
Answer Key : D Your Response : D (Correct)

Question No. 73

Fepsal H FERAAAT F S e & v frw o @ swer fhar s 82
A)3ccel B)waIfae
C)3ade D)aTSWhiehel

Which lens is used for correcting 'Hypermetropia' in humans?

A)Convex B) Progressive
C)Concave D)Bifocal
Answer Key : A Your Response : Not Answered

Question No. 74

fArfaf@a Jofr & rquitya @@ wa fifeel

7776, (.), 216, 36, 6
A)1275 B)1296
C)1287 D)1263

Find the missing number in the following series.

7776, (...), 216, 36, 6

A)1275 B) 1296
C)1287 D)1263
Answer Key : B Your Response : B (Correct)

Question No. 75

30 feeT & 999 Y, S JHT A oA FES (7) F TH W™
I & T wafeas I9geT @l

7 2 19

3

WU
—
=1
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A B) 14

18

C) D)

Choose the alternative that best replaces the question mark(?) in the

given figure.
7 2 19
6 1 ?
3 b} 17
A) B)
14
18
C D
) )1 5
15
Answer Key : C Your Response : Not Answered

Question No. 76

IfSAT(rheumatism) aId &R R & FT XY Fr wondT F=ar &2
A)ged B)aNEsT
C)RR D)sis

Which part of our body does rheumatism affect?

A)Heart B)Neck
C)Head D)Joint
Answer Key : D Your Response : D (Correct)

Question No. 77

vy e s & v Ader g 3

A) 3T B)3ifee

C)amT D)gzdr

Dhanush missile is a naval version of missile.

A)Akash B)Agni

C)Nag D)Prithvi

Answer Key : D Your Response : A (Wrong)
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WA Rig X & Ter gF Far § 3 A afdaer f 3w 5 Bl gaar §, w a8 3 geaw @9 2 Rl
Torar § 3R T & a1 3R e W 7 Rl werar ) 98 g X & few far 7 82

A)giaror qiegH B)3cck ufda#H

C)efaror q& D)3ceR qd

Rahim started from point X and walked straight 5 km west, then turned left and walked straight 2 km and
again turned left and walked straight 7 km. In which direction is he from the point X?

A)South west B) North west
C)South east D)North east
Answer Key: C Your Response : C (Correct)

Question No. 79
T ASH G4 IR 2 Bl gerar § 3R AR 3 fr 3R 25 Bl gaar ¥ AR & a5 9@ iR gEar §
3R 1.5 felt T 1 g8 Yol g & fraer gy 82
A)4.3 TRl B)1.5 forett
C)2.5 Tl D)5.5 famet

A boy walks 2 km to the east and walks 2.5 km to the north. Again he turns to the east and walks 1.5 km.
How far is he from the starting point?

A)4.3 km B)1.5 km
C)2.5km D)5.5 km
Answer Key : A Your Response : D (Wrong)

Question No. 80
gfy 687 + 509 = 560897 §, ar 619 + 703 = ?
A)193670 B)760391
C)760931 D)760139

If 687 + 509 = 560897, then 619 + 703 = ?

A)193670 B)760391
C)760931 D)760139
Answer Key : D Your Response : D (Correct)

Question No. 81
UH gqarg 7 P, Q ¥ 3mem 3K Q, R & 3mr @3 axar g1 $.7000 Afds ot 1 afg 3o o arsm frar
SIer §, af R & fRear F=r gem?
A)%.2000 B)¥.3000
C)%.1000 D)%.4000

P invests half as much as Q and Q puts in half as much as R in a business. If the monthly profit of Rs.7000 is
shared between them, then what is the share of R?

A)Rs.2000 B)Rs.3000
C)Rs.1000 D)Rs.4000
Answer Key : D Your Response : D (Correct)

Question No. 82

g sin A = cos BGIgTABﬁTBF«‘ErﬁUT% HT(A+B)$H=|TH31TH$TI

A EN° R L P 7 N s e L (Y E M4} ,my Top




C)45° D)60°

If sin A = cos B, where A and B are acute, then find (A + B).

A)50° B)90°
C)45° D)60°
Answer Key : B Your Response : B (Correct)

Question No. 83

WA GeAT AN % AT AT Test & §9 F 59 gATUiaS H a1 -0 o4
A)FEeT -11 B)aTeleT -12
C)areaT -14 D)&ree -13

Which isotope was chosen as the standard reference for measuring atomic masses?

A)Carbon-11 B) Carbon-12
C)Carbon-14 D)Carbon-13
Answer Key : B Your Response : Not Answered

Question No. 84

F AV & AT TogHiae wiser F gEeAel fRar S g
A)TeriEes B)@Ied a&qu
C)dr D)zpast

Aluminium foil used for wrapping-

A)Plastic B)Food items
C)Wires D)Cloth
Answer Key : B Your Response : B (Correct)

Question No. 85

3 W A, & FYAl & a1 o sy R aw §1 30 e (31 7 9o S arféer w7 § w9d 39y &

FUA:
1) Teir o=, wsfRar g1

2) IS TIFH GoI TeT o

oy

l. T& o I B

Il. 1§ BT Yo T A
A)arael forseny | sugerd g B)l ot foisehy | a7 €1 Il 3ugerd &
C)alaT sy | Y | 3UZera_Bl

2
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In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which

best fit(s) logically.

Statements:

1) All students are girls.

2) No girl is beautiful.

Conclusions:

I. Some students are beautiful.

1. No student is beautiful.

A)Only conclusion | follows B) Neither conclusion | nor Il follows
C)Both conclusions | and Il follow D)Only conclusion Il follows
Answer Key : D Your Response : D (Correct)

Question No. 86
S A ST AT 3iferelislT 1 RR AT §T HIRABT b Tgeire 82
A)R.B.C. B)R.B.C. 3R gmfer
C)R.B.C. 3R W.B.C. D)W.B.C.

Which of these transports oxygen to every cell of the body?

A)R.B.C. B)R.B.C. and hormone
C)R.B.C and W.B.C. D)W.B.C.
Answer Key : A Your Response : A (Correct)

Question No. 87

IF, T A B g

A)THST B)@g

C)#rs D)&sd

Acids are in taste.

A)Salty B) Sour

C)Sweet D)Bitter

Answer Key : B Your Response : B (Correct)

Question No. 88
e Fqarer FAE FY Tl F T & o ST ST Ar?
A)erTg STET B)STgiai
C)3tehsiT D)3 ereie

Which Mughal emperor was also known as Salim?
A)Shah Jahan B) Jahangir
C)Akbar

e R L) e TOp



Question No. 89
Afaf@a & & Sl a1 T 64 Fo 3R T ot F [T S5 | Qer swar §2
A)Thad B)=elr et
C)eraist D)ersr

Y

Which of the following games is played on a board divided into 64 black-and-white squares?

A)Scrabble B) Chinese Checkers
C)Chess D)Ludo
Answer Key : C Your Response : C (Correct)

Question No. 90
6 AT S[eT a1 T °el W, Toh HWUHAH AT dTed A T FHreah lgT TAhrer STTar g1 AT IRl A1l
STl
A)216 - 12 B)216 - 18n
C)[27 - (2r3) x 6] D)36 - (3r/3)

From a cube of side 6 cm, a hemisphere of maximum volume is scooped out. What is the remaining volume?

A)216-12n B)216 - 18m
C)[27 - (2n/3) x 6] D)36 - (311/3)
Answer Key : B Your Response : Not Answered

Question No. 91

fw av Reredt & & @I @ I
A) B)
o
0) D)
=
Find the ODD one out from the given options.
A) B)
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0) D)
g

Answer Key : C Your Response : C (Correct)

Question No. 92

Mfor, FefaRd § ¥ & Iy | I W=a §2
A)319%eT (Infrasonic) B)Wreateish (Supersonic)
C)grzuraifaen D&l

At which of the following speed do bullets travel?

A)Infrasonic B) Supersonic
C)Hyposonic D)Subsonic
Answer Key : B Your Response : C (Wrong)

Question No. 93

g 3 %.18000 ¥ TH FSAE @liaT 3N 3WA ¥.5000 3HF UREET W 3R %.2000 $HHr Aogyr W @Y fHam
3T 38 500 s 90 3K 5 $.60 Wiy Bsd Y ¥ A 9= AT 3TAr ey AT AT FI

A)22% B)25%

C)15% D)20%

Hari bought a cardboard for Rs.18000 and spent Rs.5000 on transport and Rs.2000 on labour. He made 500
boxes and sold them at Rs.60 per box. What was his profit percentage?

A)22% B)25%
C)15% D)20%
Answer Key : D Your Response : D (Correct)

Question No. 94
Imw:rA@rBam12mmﬁwmm#mm§wm%mﬁwmmgc
TR A de 19" 3TaT &1 SHHT a6 Nl T AT A ¥ B dF ald & AT el § 3R A& A W a9q 30T g,
STel 3&hr i S & e 10 frefifeier § 3R 1€y 7 vare 4 fFeider 1 T A W Ugd Pl agd 3en?
A)airdy B)IH
C)uTRa &l fRam ST aehar D)eleil Th & FHT T qgdar

Ram cycles from a place A to B and again back to A at a uniform speed of 12 km/h. His friend Gopi sails on
a boat from A to B and back to A where his still water speed is 10 km/h and flow of river is 4 km/h. Who will
return to A first?

A)Gopi B)Ram
C)Cannot be determined D)Both reach at same time
Answer Key : B Your Response : C (Wrong)

Question No. 95
TEe FATEIH Ny & FIIET GEY ATCTH H HIaGclalion 1ohd G GarT f&ar fram sirar &2
A)UES HATEIH H Yl I W 3N gEy ALIA AB)UgH HAILIA H ThIA H A AR gEy AeIH A
RTRI T =TT T IOTABA| V¢ X Vo TRTr T ATl M AET| v + Vo
C)gay A # ‘ ?_mar_ﬁ_ar_a[ IR gy AT ngp




The refractive index of second medium with respect to the first medium nz; is given by which formula?

A)The product of the speed of light in first mediumB)The sum of the speed of light in the first medium
and the speed of light in the second medium. v1 xvo  and the speed of light in the second medium v1 + vo

C)Ratio of speed of light in second medium to speedD)Ratio of speed of light in first medium to speed of
of light in first medium. v, / v4 light in second medium. v{ / v,

Answer Key : D Your Response : D (Correct)

Question No. 96

fArafaf@a dofr & rquidya @ AT R
4,7, 11, 18, 29, 47, (.), 123, 199

A)102 B)70
C)76 D)84

Find the missing number in the following series.

4,7,11,18,29,47,(...), 123, 199

A)102 B)70
C)76 D)84
Answer Key : C Your Response : C (Correct)

Question No. 97

T # gdfea 9da Raw Fisr ar §2
A)Fer &dr SHECICE]
C)edetorer D)&AT

Which of the following is the highest mountain peak in India?

A)Nanda Devi B) Anamudi
C)Kanchenjunga D)Kamet
Answer Key : C Your Response : C (Correct)

Question No. 98

3 W H, T FYA ¥ d1g of sy Ru aw §) 357 Fea(l) # 9o, S aifhes w7 & w6t 3w 8l

HYeT:

&ell ABC & U 3cdig T AHREer | I 3T e AR qorEe F AR F dWrad § o 3w 98, 39 @l

forsy:

|. 3cE 3T IO T gler AT
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C)daet sy Il 39gad § D)1 ot forsehy | =1 Il 3ugerd &

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statement:
Company ABC has marketed the product. Go ahead, purchase it if price and quality are your considerations.

Conclusions:
I. The product must be good in quality.
Il. The price of the product must be reasonable.

A)Both conclusions | and Il follow B) Only conclusion I follows
C)Only conclusion Il follows D)Either conclusion | or Il follows
Answer Key : A Your Response : A (Correct)

Question No. 99

T, TRad 3R 'ReRT T sl R F e aer § i S §2
A)FUATH TAH B) Tt
C)algsir D)dsiR(Ribcage)

'Hammer', 'anvil' and 'stirrup' are bones found in which part of the body?

A)The vertebral column B)The ear
C)The elbow D)Ribcage
Answer Key : B Your Response : Not Answered

Question No. 100

fArfaf@d & § i @ e "HewHeTs & el & wewr F v §2

A)3rTede 29 B)3feoe 30
C)3rfede 27 D)3rTede 26

Which of the following Articles is for "Protection of interests of Minorities”?

A)Article 29 B)Article 30
C)Article 27 D)Article 26
Answer Key : A Your Response : Not Answered
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